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_ SECTION—I : MATHEMATICS
i, ."
{ 1. The pair of linear equations g;x+ biy+e; =0 and axx+hbyy+cy; =0 has a unique

solution, then

QX +by+cp =0 DB apx+byy+c, =0 & BPADH HREYET BB J3E Ae¢S 908, eI

e .

i b @ b0

s‘ /(/X( a2¢b2 ) az_b2¢92
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5 a _b _¢ a _ b
B) =S5 @)

A a by o ay by
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2. Nimra went to a bank to withdraw ¥2,000. She asked the cashier to give her ¥50
and ¥100 notes only and she got 30 notes in all. How many notes of
T50 and ¥ 100 respectively that she received?

R 2,000 Erarobenr HEIG RS a8 ergo8H 3908, 6D SAAAHBHL & oseRs 50 SWraraben
2080 100 Erarabe Sy S aigid 5808, nko 30 ey &0 ST, &0 G5 DY
50 Erarafe S'ey 208akw 100 Erarabe Sy StHsm 22

(1) 20, 10 (2) 15,15
) 10, 20 (4) None of these
T 5
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115. .The maximum number of electrons in M shell is

S
M E85y508° &od (e OO Do)
(1) 2 (2) 12
) 18 (4) 24
Which of the following orb.itals does not exist?
808 TS5t H ©8)e7S Desdoore dotier?

(1) 2p° (2) 3s!
() a2 %24:13

116.

117. Niels Bohr received Nobel Prize in

dSy 5% TR06S® Sfands I, 80 SeoerE>?

JJ'J/ Chemistry (2) Physics
G=ai FOE
(3) Biochemistry (4) Biophysics
LD 60D BSTAE

118. The number of degenerate orbitals present in 4d subshell is
4d 8y’ o8 B8 Ho &S558 Koy

S 2) 10
@ s Mo 4
119. Presence of 3 unpaired electrons in nitrogen can be

explained by’ principle,
S BSS® 3 wEres Jo

Eoen SOLER) 580D JakrZusn

(1)  Aufbau (2) Pauli
P DADLRBN 28 DAHHHW
(8) Hund (4) Bohr
Fo& RohREw 56 DaHH0)
- Strong ionic bond is formed between and

group elements,
BUD @AY 00 s (1079 Soresce S0¢g YEH

(1) IAand1a

L A2)” LA and Vi A
'-'-;(:3), IA and VII A

(4) TA and vira
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|, wnich one of the folloy;
fecnature of Solution'lpng €an be uge

(1) Turmeric solution
SNY EFde0
(3) (1) and (2)

(3)

113. Tooth enamel is made up -of

(1) calcium sulphate
s°§aho ‘.6653&5-
(3) calcium phosphate

5° gd’no ab“?oq)es

114. What doyoY observe on
DreTDCR0 e (EHEO

Red litmus remains T

(3) Red litmus becomes

oo)] e’.lea&‘.i) 2
Red litmus turns

(4)

5690 G300
|.mu ] gb’ an 5\°6 05\9’;\:@;&) @w”
nl)g";&)m&

pouring potassium

.geﬁ@_ 48030 a1 aeaéﬁ
ed and blue litmus turns to red

o blue and blue lit

%), 5°0 29 é’)wé,% hHeo

(1)

JB3D é}e.JéE: 3EIHTR &S00,
(2) Red 1itmus turns b

DBID e?le,)éfa 5o’ $7°8

colorless and blu

Q &0 e9lfmd;
‘to blue

d as - t C Or
as
€1 ot acldl

(Socs DenSed
) S,
7
{2) Litmus o607
&w&ﬁ
(4} NOne of these

(1) SoBasn (2)
9 5%
112 If pH of rai i
p rain water is less than then it i
:sg@ 4 . N it is called acid rain.
5085 BT &), TR B D
(1) i ) go 0LI8.
(2) 76
6:6
4) 86

SoH0 B dTnS &° BB &0e08.

(2) calcium chloride
S“Qo‘bo 5:@_5 T
magnesium sulphate

(4)
mﬂjxo"no Kaébes

hydroxide on red and blue litmus papers?

SRBo D DAY, W & 95c8TRy K8E?

-2 DO Jed DGy DITEI

mus remains blue

TR 0GR

e litmus remains blue
50 DO @u&EJ byerTe GOEIND

and blue litmus turns to red

e 43o80m0

[ P.T.O.
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: ketone?
106. What is the structural formula of simplest

808 °DS° @8 dgrses (simplest) 465°S 2B?

CH,— NH
(1) CH;—O—CH, (2) 3 2

O
I I on
(3) CH; —C—cCH, (4) CHy—C—
107. Ethene and ethyne differ in the
BB 28050 23S 9BB0D wowen J
(1) number of carbons (2) number of bonds
SR Sogyg DOEH0 508
(3) number of hydrogens (4) (2) and (3)
| pEsSe Sovy (2) 060k (3)
108. Identify the dimethyl ether.
32098 ais5 0 KHBokod
i
(1) CH; —C—cH, (2) CH,—O—cH,
i i
(3)  CH; —C— OCH, (4) CH; —Cc—ony

109. Saturated hydrocarbons contain
S0B)3 PGS E)Sen 5OR gochin.

(1) at least one double bond (2) at least one triple bond
5030 2.8 Bgeotso E030 2.8 [B2o¢o

(3) all single bonds (4) at least one ionic bond
@R) D 2oianen

£0%50 2. VATV oo

110. Aliphatic hydrocarbons are

esO0¢36 PIESE)Sen edo

(1) closed chain hydrocarbong (2) acyclic hydrocarbons
S0i5)% Hyope &) Sen aﬁLgo&JZg:L&“svcja}Sm

(3) open chain hydrocarbons (4)  (2) and (3)
D Hoe 1{@’5“6‘)50.) (2) S08axy (3)
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ol Reactivity increasing order of
0

the f :
808 HIO5*OS® |8 yohen - ollowip,
L o5 n)aﬁ moba g metajswﬂl be
[1) K, Na, Ca ?
/9 CaNa, () K ca Na
(4) Na, K, ca

102. Poling process ig used to
2990R & 15850 §°85% Toermens
(1) concentrate the ore .

2
D06 PDes m@gé% (2)  reduce the ore

(3) heat the ore with o, o :ﬁ: éout::esm
Apoungs ag'aae.sei‘cpum@;&) e mmg e crude metal
(Charge} 103. Corrosion of silver results in the formation of
Dods EADHHD SoBIDE _ Hythko.
(1) silver chloride (2) pure silver
degd 5786 B59)R0s Dod
(3) silver nitrate (4) silver sulphide
2ecB DEseS PegS $9)6

104. During corrosion, a metal will
St EaBn SToBRYE, ¢ S0

(1) be oxidised (2) lose electrons

30&:&0&):’3 §%" O

es%aﬁdeao OB i
(3) be reduced (4) (1) and (2)
Eoso¥en0 Do (1) $98a50 (2)

up will result in the formation of
105. Replacing one hydrogen from NH, by alkyl group |

: U .
H.,, %06 &8 2pIE S &oRoDD ¢
53,5 19 TS NFg
2) ketone

(1) aldehyde 2) g;g

eg%z& (4) ester
(3) am;'le gﬁs

Y
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96. ldentify the correct statement.
98 e ReSA0e5K HBowod

y
(2)
(3)

(4)

=
S
N i
= b Lo

o ; 1 G AR ",' 3
i e | X _'1!.‘ ¥ -
B v 9Ij-_‘<‘ff.*' 5
T 3. - LU ' %-: (4
¥ y \ o 3
/ Lo 14 4
> \| ML
Rt .
Lo L it o P 4 ﬁ
/ : S +.IF" —m;f_yxﬂim;jl A Ll e o s )‘.

By losing electron chlorine becomes cation
o HAR0 §S S0 TTr §BS SteaalRIe H3E0R0
By losing electron chlorine ‘becomes anion
T §°6%Scko mgor STBS esvatrRIT Bredd
By gaining electron chlorine becomes cation
aoﬁ;Sm Drotico Tgo® 5708 SPeaaiIeRon :{u"ti)a‘n-
By gaining electron chlorine becomes anion
O FOR D00 TKO° TS eSHOTTROT SIPEIR

97. An element 9 3){27 forms ionic compound. What is the charge on X’ in ionic compound?
1 3X27 & SO0 OKRE ST M08, @S’ e ITYoS® X’ Sureso Bw¥), ed%o (chargy

Qo7

(1)
(3)

gt

(3)

+1 JZ]/ +2
3 (4) +4

98. Linus Pauling proposed the concept of

B0 29oh (S83-B0d% s 982

ionic bond (2) hydrogen bond
@ASTE 2080 . TEES 2080
hybridization .(4)- covalant bond
So¥BEEm0 Q0GB oo

99. Electronic configuration of 02 ion is
072 oot Gl OHS D550

(1)

1%, 252, 2p* (2)

132, 232, 2p5

/[,3) 1s?, 262, 2p5 (4) 1% 242 2p°

100. The number of electrons gained by non-metalli

¢ element is equal to its

24 mw S0 DroBs O FR00 Q0P T Shedo.

() :alency (2) group number
BRI '
(o) K)Oﬂlg
3
(3)  bond angle (4) Al of these
20 E'p @R
_-'-"'"-'-—-.________
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SECTION—-—.III -

2 )
91. 1s% 2s* 2,6 2
P°, 3%, 3p° (

15%, 252, 0.6 3.2
» 2P, 357, 3p° (2,8,8) DRGS0

CHEMISTRY

2,8,8) configuration is related to

(1) p3 — ¥ Sowofoasa.
3) s2 (2) c1!
(4) All of these
oY
92. Lithi : .
um, sodium and _____ are Dobereiner’s tria ds.
OBADo, FtGaHo 28k B &aBsE [B¥snen.
s (2) Ca
(3)F L Cl / 4) K
93. IV A group elements are called
IV A group 3005708 20D Devd?
/[/1] carbon family (2) chalcogen family =
51*63).5 €020 TS Hewowo
(3) nitrogen family (4) boron family
Des’esd Hewowo Sor® Hreaowo
94. An element X’ belongs to 2nd group and 3rd period. What is its valency?
2 % (78 o805 3 5 DHBOHELD DoBR X e Barroso Bk, Do
(1) 1 2y 2
(4). 4
the (3) . 3
roposed by
o5. Valance Bond Theory Was PEOE
[A)
| 9 3P0 EH 22080 Lﬁ@ﬂv&o&’)ﬁ’)
290 e ® (2) Kossel
wis
(1) e 6
E.
ePros (4) Bohr
(3) pauling 5 g CHCUEE
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87. The C.G.S. unit of heat energy is

43988 C.G.S. Bdommo

{1) joule (2) kelvin
S £V

(3) dioptre (4) calorie
Sargh _ 356

88. If 27 °C + x = 300 K, then the value of x is

27 °C + x= 300 K e00d x 2en%
(1) 0K (2) 327K
(3 273 K (4) 300K

89. The pair of substances which have the same value of specific heat is

28 DIPF0 Deud SORD 20 A Todren
/ﬂ'{ copper, aluminium (2) zinc, iron
535, @ertsadano 20§, 3030
(3) ice, kerosene oil (4) water, ice
oo, 86%S D, B0

(850 H00& 5 ITLore S8 (58a0E?, el ©oBEH 58

(1) increases (2) decreases
DEDHB0H . 6{2&05
M}emai_ns constant (4) None of these
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4, The magnetic force actj
three quantities “alhe]?,g on

a8 Fost 55’”&)5& e
2 I

(1) charge, speed, ¢
2 eCtrOmQtiVe

SN0, 56, 365".»553‘;)65 VORY
(2) charge, magnetic flux

€@ ]‘novi
1'lg ch y
arge :
Be in a magnetic field is the product of

» Magnetic flux density

&9%0, D&, OOV, 08 v 0|5t
( charge, speed, Current

&53%0, &, DS (Siro

(3) C/hal' ge, speed

85. An Zu:;o cllll.‘wer started an auto rickshaw with the help of pulling a rope. The device
used by him to convert mechanical energy into electrical energy is

2.8 65 @95 35850 B eriftio SFa0E’ B BT, F08S" Ao 58, Doy FET SrEnen
TG AEVO ‘

(1) multimeter (2) transformer
ELLIN (N
(3) dynamo (4) voltmeter
a5 - 5% 208

| ic i ‘on is a consequence of
86. Faraday’s laws of electromagnetic induction

05T DE25(S0,08 (5T BT a2

(1) conservation of mass

030 D00

(2) conservatio

BHoH @53’355:‘1’ D0 .
(3) conservation of angular

ot ol D50
(4) conservation of energy N | a

48 DBSHLO

[P.T.0.

L
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and time respectively, then the

. 1
g1. If A® and At are the change in magnetic flux .

induced EMF is

Ao At @0 @08 e $375)) 8akd P00 SR 2000B (288 DEGTNOE w6k

AD 208 (
SrBED

7 (

= s0

(1) ‘/A—_t ) A
(

At

(3) AD-At 4 e

82. A freely suspended needle of a magnetic compass comes to rest along the geographic , 85.

~

S0HR;08 BETHDF0EO BB VGHYT d02IH, @8 i ), DFYOJBS By Bisen

(1) north-east direction (2) east-west direction

SBE-675Y) Bien BIEY -SR0S Ben

. - (
(3) south-east direction /(,4.7)’ north-south direction

5EE-B°8)) Ben

|
aB5-58e Ben 86, ]

i

83. An @;T;s?ni; hagnetic flux through a coil of 100 turns
maxi tced EMF generated in the coil is

—

in 0-1 s is 0001 Wb. The

100 %6 5085 e, 01

; s S° ¥eni(y 0OV, 08 e
t)ﬁ)é&;j\aeg &)0&” aw:}

2DIHES© 0:001 Wh eans e M8

(2) 10v
B) 01y )

(4) 100V v
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(4) R is independent of
1D R esgosisesess

78. Two currents 3 ma and
5 ’
three currents 1 ma, 1.5 minaAnare flowing towards the junction in a circuit and

d 3
X are flowing away. The value of x (in mA) is

B 2.8 265256 S0a06% 508 PHdt: Bk 1 mA,
Sorr (5528 x ev (mA o0&

i (2) 105
(8) 2:5 (s
""' 79. 1 tesla =

1 & =

(1) 1 weber (2) 1 weber/metre
1 35 1 306 /5066
1 vo'eber/metre2 4) 1 watt/metre?
1 36 /26562 1 arey/ 800067

80. The phenomenon of electromagnetic g diicton tnvolves the:process of

DSo5tSKm, 08 &yfisHicros” s (1805
(1) charging a body

S0 ederOBO Baeso
(2) heating a coil
Brisoggito BE Dosco e
(3) producing induced curr;::; :1
H e Bl o
émgée i 5‘5‘)55 due to overload

(4) preventing damage®

[P.T.O.
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73. 6 watt x second = 77. 1f R
6 ey x W8 = e
(1) 6 volt (2) 6 ohm (/ﬁ
6 5% 6 L
_ (3)
1(3) 6 joule (4) 6 coulomb
b 6 5 6 Lrarod
: 78. Tw
74. The relationship between current and voltage is established by the scientist thr
D058 SR8 0Bk TG Sueig Ko SoworeR Sowy IS TS o
: _ =8
(1) Faraday (2) Oersted /PI]
e g saHBE 3)
(3) Kirchhoff . (4 Ohm 79. 1
809, DY) 1
: (1
75. The electrical energy (in kWh) consumed in operating a bulb of 40 W for 5 hours a
day in a month of 30 days is
: _ (3
30 W 250850 SO 2.8 25558 mvenyo 6% 5 Howen VDAY, 30 &%ren o OS* d0EKo ey
DS 58 (36° ey Howes?) '
(1) 12 . “6) 6 80. T
(3) 3 4 15 ' 8
(-
6. i : : .
76. Which of the following is not a measuring function of g multimeter?
5006 Sese ag g (
(1) ¢
harge (2) Current
“Yhko J
D& [Soro
(3) VletuHe
[(4)  Resistance (
.‘J‘ﬁa

SPACE FOR ROUGH WORK /otsnd ARSI o
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9. In old age, the value of
ByTS50St VISR SR80

' DD Byoxs
)J") larger value wo
J&)biﬁ 20D é@ﬁ) (2) smaller value L
(3) Does not change B De0d IHH
D005 BESs (4) None of these
il ERLECES)
8 70. Electric power is the Product of current d
. “urrent an
D5 B0 @RS Dy . '
St g§ 58 (S350 B8 —__oomo. "
(1) resistance 2) ch it
charge
050 e
(o]
3) velocit : g i
(3) oty ~ {4~ potential difference R
3o 2BYANS e
71. Three resistors each of 4 Q, 04 Q and 0-04 Q are connected in series combination. £l

Their equivalent resistance is
4 Q, 04 Q 58050 0:04 Q Devden EARD B D6 GreR Fed Sogrdo D, 78 398 25°So

[y a8 (2) 444Q
3 49 4) 044Q

72. Pick the correct answer from the following two statements :

(808 Botdy T°5R 5006 HBEVD DAIGRO doE’0d :

(@) Ohm’s law is applicable to semiconductors.
cofiaisre £,50 DODSIRY 3TN
[~ ]

(b) Ohm’s law is applicable to metallic conductors.

Sy TS B0 RADDTRY dze.
2] b) is t
Only (a) is tru€ /(QT Only (b) is true
: i Ay (b) S0 deo ‘
(@) S3°B> DO

(4) Both (a) and (b) are false

true -
(3) Both (a) and (b) are ) T
Qe - e
485 (b)BOBT !
2 ACE FOR ROUGH WORK / L'J@Elg)ﬁ n?pu‘)..\n
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64. The light which has the maximum angle of deviation is

69
HBR Do §%0 KRS 5708 Boldy
(1) red (2) yellow
2% S0
/(;)}j violet (3} encss
_ e e95053)
65. Blue colour of the sky is due to the scattering of light by the atmospheric molecy, 70.
@
50 DO BoKHS® K556 57880, 208 BH@ESD O TEHEEs HBITEVHOD 5708 I8ESe0 Toss,
(1) H,0 (2) €O,
(3) H, 4" N, and O,
N, 50800 O,
66. The power of a lens of focal length 20 cm is 4
7/
20 cm wrgrgodso SRS Seol a‘:va').)gso
(1) SD (2) 02D
@] 1D (4) 2D
67. In hypermetropia defect, the image is formed
BE 52 5°506° 2t 5800w R 75
) beyond the retina (2) before the retina
Bedne esde Bede S0
B th i
(3) on the retina (4)  Does not form an image
B3 ‘
P00 Nojflelal]
68. For a normal » ‘
. mﬂ: human eyg, 2'5 cm is the distance between
2703 o8, 25 em 33 otk esiso
(1) eye-lens and corpeq :
(2) eye-lens and retina
8083 $05°08 508y s /
, . Q00" Doy 4 5063 Eeosed8 958 o3
(3) retina ang cornea 00 BedreS Socsy
Odlinty B0 5 #) retina and object
Qv 9,
———\% Oed 0Bokw iy Sodss —
_/’/

SPACE poR ROUGH WORK /o508 AoHw
frd @




+, TE

: | . | m

4% '- 1 d i ﬁ,
.\‘. : i, 1 . ‘ﬂ .
- v
&
r
efrac &
59. Irrespective of the position of t )
always forms an image of naturehe object on the principal axis, a concave lens
SRRVNO DFDEOD GODH rid08® o
= [l
(1) real, invert N 00 Bhoz, 2.8 Herset Kexko Jerpyeir B BBon S5 o
(2) real, erect
de3, Bo8oteorr
a Qa3 DIV
(3) virtual, erect
(4) Does not form any image
QD VIR
T e 58BoR0 DS
60. The lens which is bounded by one-curved surface is
a8 B0 KR & Sw¥o
//ﬁ biconvex (2) biconcave
. (3) plano-concave (4) concavo-convex
3 . _
DSBS HyerseE-Kr0g5"Y
D0 Mood 61. If 25 cm each is the object and image distances due to convex lens, then its focal
length is
25 cm © Hy B30 S8 B8DowETE0 SOR &3) Hoarss eolo Boo¥); ToerRgeBso
(1) 50 cm (2) 25cm
(3) 15cm _ /l‘kf 12:5 cm
lal axis 62. The angle between paraxial rays and principal axis is
' oryosod SeTot 00D BETEOS Sl S0 §%0
(1) ©° (2) 45°
(3) 90° ) 83
63. Splitting of white light into VIBGYOR colours is called
B doft> 5709 VIBGYOR Sofeors G S8
(1) scattering /(2]” dispersion
(3) total internal reflection (4) refraction
oot S0 B8edivo
I
__—____.--_-'-——-_
LA SPACE FOR ROUGH WORK J DBBOE JEODV
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57.

58.

5.

56.

" 2 PR L i AL

e
PP TR

i The speed of light in a medium of refracy,
The speed of light in vacuum ig ' 59. T
index 4/3 is a
asEoS® 5208 wifo
Aorig08® 5708 o ¢ ood 4/3 m HBSS HoEako 8ORS s
Z) e/
(1) /3 (2) ¢ ) 1
(3] 4c/3 (4) 3¢/
The stars appear twinkling. The principle involved in it 18
BYEre0 AT S9SGEran. BRS 580 @00 SP0d BIPBDD
,(f{} refraction (2) reflection 60.
S50 SoeagHo
(3) total internal reflection (4) dispersion
Sogrposs Sovsgvo H55€0
A rectangular tank of depth 4 m is full of water of refractive index 4/3. When
viewed from the top, the bottom of the tank is seen at a depth of
4 m &6 SRS 2.8 B SBOERrED &G 4/3 S8&550 Deud EORD DEIE* Dod &oB. D grrHn Mol 61.
BrDHE & D GRS Do S
(1) 3m (2) 2m
A convex lens gives a virtual image when the object is placed on the principal axis 62
gﬁ) =,
48 S0875°6 5250 T IFTEOR AniS0 S8 SN S0DIHE Ty (SSBoe0 E)o%08?
(1) at infinity
@508 B850t
(2) at centre of curvature .

S8 Soo 58

(3) between focal point and optic centre

P05 Botis 59605 t55§ Sogso s

b
%) between focal Point and centre of curvature

Wdh ©062) 5800 (e Boso Boess

SPACE FOR ROUGH WORK [ DBOIDE Jediany
- )



51.

52.

53‘

R By
7 K i WORK f.'.'](‘"ll:il..].'.'l‘
SPACL‘; FOIR ROUC I <

b £ l.. Ag " s (.
* o m il '__h_ . S ‘:
-h« sty %

SECTION—; . PHYSICS

Formation of de
W and fog is dye to the process of

BT DB
T DHRO0WO Dey360%) Seemmsng Bos [HiEa
clting
(2) freezing

Ldg)e‘,m;ﬁo
(3) evaporation 4/-- SHSe0
d .
Y A4) condensation
0856820

40 g of water at 40 °C i
is add o
the misture i ed to 10 g of water at 80 °C. The final temperature of

40° .
C &85 SORS 40 1. B3R 80 °C &yt ¥R 10 1. He38 KD, Hiso oiiuo Gurt), %08

-

a2 :
o e . .
(}l# 48 C (2) 40 QC \\.y ‘:," N“.'I_.. :

(3) 120°C (4) 64 °C LA o

A light ray bends away from normal when it travels from
=08 &880 ©0200 H306 ST°8ore SoRDYE &0C ITTRE H7°8Y)

(1) air to water _‘{_2'1'/ water to air
™8 006 DeIS

(3) water to glass

Hed ood oS
(4) air to glass

If v, and v, are the speeds of light in the two media of refractive indices n, and n,

respectively, then

5
n, $80%0 1, S 8e558 10Oee

e SORD B0 Sirses® 5708 Dres HRIT vy HOA v, Lo :

Sy U152,
B.l_z-r-h- {2) Un n
2
2 Ul n'_!_
L 1 4 vy nd
(3) 2 P -

1 Qe
o




W

The number of subsets of the set A={p,q} is
. A={p,q} & N8 o &I SWBe Sog)y
| B 51.
1)
o 3 4l 0

47. Which of the following is a polynomial?
o 208 T0S° I8 a¥ V567
5

(1) x2-6Vx+2 @) axi

52.
48. If o and B are the zeroes of the polynomial f(x)=6x2+x-2 » then the sum ¢f

Zeroes is

f(x)=6x2 + x — 2 &8 250368 Ko B0 O, f evond T3 Ao dend
1 5 L

(1) 5 (2) 6
1 1

B -3 @ 3 53.
49,

If the zeroes of the quadratic polynomial g2 +bx+c(c#0) are equal, then

ax® +bx + cle#0) &3 38 a50ss D%, B0 SETTSS

(1) cand g have Opposite signs (2)
¢ 8atw g ey D&Y &

5OR Hotrony

¢ and a have same signs
c0Bad e 28 OB EOR

)0eIPa0)

B2 5 dqe (4) None of these 54.

DD 5%

Njw pj~
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41. Which of the following Statements
B0 (508 BHIT0S" 08 IBERE seesy)
(1) The sum of a rationa] number and

&8 SESEBAH Somy 5Boto 2.8 Sudag, o

4
W e D3O WO 2.8 KEB0% Sog)y @B00B.
nal numbers need not be an irrational number.

Boo E8s3o%y ‘K)oepée ::mgo 28 E83c%) Q08)g 5*RHIE0 Beso.

The product of
: - 4 non-zero rational T 7 :
irrational number. number and an irrational number is an

iS not correct?

an irrational number is an irrational number.

(3)

2.8 BIRDGHE 0S5 Bogy S8 w Kodan Somy oo &8 EeBan Sosy BB,
The product of two irrational numbers is always an irrational number.
Botd SBB0H Soage ono Jopir . Ksdasb Sopg ©Bo0d.

(4)

42. The HCF of 306 and 657 is
306 $08050 657 © K.3r.50.

(1) ~10 (2) 8
,(34/9 4) 7

. 43. The value of logy 32 is

J1/0{g(232 SBoo¥); D05

(2) 32
2) :
e @) o

_44 I A={1,2,{3,4} 5}, then which of the following is incorrect?
s = g el ’ 7 ]

S° 5B $BRNB S°E?
= {1,2,{3,4},5} 0208, &4 1808 T°0 0
.. A 2 {B4}cA
; 1 o (4) None of these

@) BHc4 b =5

ataining 3 and 6 elements respectively, then what
o sets €O .
# r of elements 1n AuB?

and B arc€ the |
" o0 SOR Hiyeond, AUB &* Hods Ko

can be the maximu
o> A 206050 B &P

m numbe

Boctd BT
H[27°O5*0 ﬁﬁg. 2P0y Doh? g »
o i 8 Ao
(3) = CE FOR R()UGH WORK /&@X)R) A

SPA

fiaat]




38. The upper limit of the median class of the following fre

S0 808 D8Iy Wresdos’, DG BENS LD 5

quency distribution ig

Class Interval

BENS eoBo

50-70

70-90 | 90-110

110-130]| 130-150

150-170

Frequency
DsYNg0

15

21 32

‘19 8

(1) 110
(3) 130

140

30. m is a

140
210 @08 &8

/(’l)/ terminating decimal
©0BB065 G5F0%0

4 90

(4) 70

(2) non-terminating and repeating decimal

050 59 B0k Sl laT el )

(3) non-terminating and non-repeating decimal

@080 570 HBaiw G8D0 5D SF0%0

(4) None of the above

DD 5°%)

40. The remainder when the s

6 is

3 08 5,3 Hwe 55 Rog)g GI0%), HeR) 6 B grRodme Sy T

(1) 1
(3) 3

2 2
(4) 4

SPACE FOR ROUGH WORK /DS5HE R

101

quare of any prime number greater than 3 is divided by

41.



a4. The average of N
34 the observations 10, 20, 65, 102, 108, 115 is

B Wéﬁ 10, 20, 65,
()" S0 | By
B 2j 70 o
(a) 90 : h
35. If 35 is remove i ; : ‘ : '
" increases byo ved from the data 30, 34, 35, 36, 37, 38, 39, 40, then the median
30, 34, 35, 36, 37, 38, 39, 40, SEr0%05" 35 % FoRod0NB, T LY DeoSE" DEILE
1y 2 | . @ 15
' @) 05
The modal class of the following frequency distribution is
40-60 | 60-80 | 80-100 .
vy
21 29 17 3%
(2) 0-20 -
(4) 40-60 S
¥ ol . data are 24 and 60 respectively, then the median of the . &S
'ﬁmmode_andmeanofa a
a is '
BLIDE :m,,,g,,agﬁpmogm@:nomm 04 $8050 60 ©aB, & $ET0T0 ATy
b s
(4) 46
.
SPACE FOR ROUGH WORK /D008 i



30.

’_‘;,.-h
on 18— and the Brobais:
bability of guessing the correct answer to a questionis 75 andthe probapiyy, 5,

If the pro .. 5 is

f not guessing the correct answer is o, then the value of x i

of no X

w ped @0V FO0BE DEHLL Sogms .,

8 (3% $Ba1R HITGH0 0T Sabotsth Ko Sogrsgh 7, Bobak Ty

2 _

8
@ 45 ,,(27 :5

3 12 : (#) 35,

31. A box contains 24 balls of which x are red, 2x are white and 3x are blue. A ba]|

selected at random. What is the probability that the selected ball is not red?
24 wodven Ko &8 DPS® x DY, 2x Beod) So8atn 3x Heo SoiH OB SD). WOES® Kod 28
2089 &%, & 208 KNP KolH S KL Ko Rogragt

@

“«

(1)

W= o]~
(o)} J; B SN [

(3)

32. Two dice are thrown at the same time. What is the probability that the sum of the

33.

two numbers appearing on the top of the dice is more than 10?

00 D8R0 2838 JHEDTE. T3 S0gred Sy Pose Jto 10 K083 D0 IO Ko Sogrigs
2oth?

1 e
(1) 36 ;@ = Vo

1 .

1
(3) 26 =
2 ds of hi card
is Cc?:a\:'; at ef:nzc?;lldfim thS i Spa.dt?s are missing from a pack of 52 cards. A card
black card? © femaining pack. What is the probability of getting ®
52 bk H0E,00 Ko &gggésv
GSafyosm o
n‘b

. 22 8 Sens) ol S*8) @00 Ke lﬁoepv;')ée;‘g

52 20

24 (At

(3)

52

36



:ly,

se

i

ts

25. If tan48° tan23°. tan 400

29. If two towers of height

~ h, B h, Jtsyen EORD Btk

A4 3
'tan67° = tan(A +30°), then the value of A is
tan67° = tan(A + 30°) wowd, A sevs

tan48°.tan23°. tandne

e 245
- 4 15°
:'.'26' If asin45° = bCIOSeC' 30°, then the value of g' .is
asin45° = bcosec30° wond, %Z_ Sk oeiss
(1) 1 ) Bl o0
3 23 | o

27‘ : If‘_san2 0 +cosec?0 = 6, then sin® +cosech =
sm23 + cose__cze- =6 @08, sind + cosech =

(3 42 ‘ 4 2
28. A tree is broken by wind, its upper part touches the ground at a [-Joint 10 metres
. from the foot of the tree and makes an angle of 45° with the ground. Then what is
~ the entire height of the tree?
2.8 39‘8 &8 9BR0B. TR IBRS P grii0, VIO o (o) Hood 10 ers Er80S° Do w808
| 558050 @B HrPDHE® 45°% S0 Biyeaond, & Dey Gk, 0o IEg Jos?
(1)} 15m (2) 20m

o " 5
‘:«ffﬂ" 10(1++/2) m /(“QK 10[1+?]m

s h, and h, subtend angles of 30° and 60° respectively at the
inix!xg their feet, then the ratio of h, : h, is
Fhgoren T3 Srei ¥Bi Bar Poto G, ey DO Wod

oo 30° B0k 60° eond, T8 I8y DS h, : h, =

midpoint of the line jo

Bosw s £%ven

(1) 2 -1 /:i;/ 1l g
' ' 1:3
(3 3: 1

v SPACE FOR ROUGH WORK /901508 guidiin



: : i the radi
20. In the given figure, the radius of each outer circle is a, then racius of i, a4, |
inner circle is

3 S008, (58 el Hyo k), TGN a wond, S5 DB TGN

25>
(1) 2+1) ,(4)/ a(2+1) 26
(B 2-1) (4 aW2-1).
21. If the length, breadth and height of a cuboid are 8 cm, 3 cm and 4 cm respectively,
then the total surface area of th boid i LN A s
ac €a o € cuboid is 'ZCHD'\' b\’\"* n > &((%’-’-l ) (4
2¥ 835.%0 Do), ¢, Dese), 2B HEWHT 8 cm, 3 cm, 4 cm @S, e3 @gm;ﬁo Qo); SoFegse 27.
LS pE SR
(1) 48 cm? (2) 72 cm? 68
2 2 L=
3] 136 cm (4) 108 cm
28,

22. If the volume of a cylinder is 500 m® and the area of its base is 25 m?, then its
height (in m) is

&8 870 BY); 085857760 500 m° 08K T P50 25 m? ward, 70 o SowESt

(1) 20 2] 15

(3) 50 (4) 30

23. 1If sec6 +tan® = k , then secf-tanf =? 29

S€cH +tan@ = k @od sech —tanh = ?

1
(1) 3y
(3) &2 .

;2_ .

(4)
SPACE FOR ROUGH WORK /9508 RS







. i ,2
11. In what ratio, Y-axis divides the line segment joining the points P(-4,2) and Q(8,3)
P(~4,2) $0Bat 0(8,3) Dosiess K0% Bar gomrdy Y-eko  DHBS® D067
A 3:1 (2) 1:3
By 221 4 1:2
12. If the centroid of a triangle formed by the points (a,b),(b,c) and (c,a) is at the
origin, then g3 +p°% +¢% =
(a,b), (b,c) 298K (¢,a) BocoHOE® Heyds Bieo FBoog), Hososg Soio Surre Do) 5@
Dyegond, g% +p% 4% =
A1) abe (2) O
(38) a+b+ec i (4)  3abe
2 | 3
13. If the points (1,2),(~1,k) and (2,3) are collinear, then the value of k is
(1,2), (~1,k) 398 (2,3) & docsspen StrDd, k dess ok —} A
w0 ey - -6
/@{1 ) R SO 4
TORE ) A4 ié*l =3KF
14. If the slope of the line Joining the points (4,2) and (3,-k) is -2, then the value of Ikbis:,
(4,2) 206 (3,-k) &5 dotgrens S0 5689 760 -2 wonsd, k Devs S
(
(1) -3 2] 4 |
) 3 | @) -4
15. In the following figure, if DE | BC, then x=
3 808 38505° DE || BC wowd, x =

16. AAB
BC -

AAB
EF =

(1)
(3)

17. In A

2 g

(1)
3/

18. Int

QDY

19. The






3.

If 2 is a root of the equation x” px+¢q =0 and p” = 4q, then the other root is

X% = px +q = 0 0 S2oE8ed8 2 el Boredn $i8ako p? = 4q wond, 405" HHrwhn

=

(-2 (2) 2

o
@ 5

The ratio of the sum and product of the roots of the quadratic equation
7x*-12x+18=0 is

7x? ~12x+18 = 0 & 3¢ 52080Ea G, Sarere JEw B0 RSV DHE

(1) 7:12 (2) 7:18

BiFa:2 A 2:3

If the area of a rectangle is 112 m? and its length is 6 m more than the breadth,
then the breadth of the rectangle is

28 BF BB0YH0 ook, Prregin 112 m? So8ako wod Eook), FD, Déey) $o8 6 m KD €, &
53 DKo Qhs); deée) ; i

(1) 8m (2) 14m

(3) 10m (4) 12m

Find the 10th term of the arithmetic progression 5, 1,-3,-7,....

5,1,-3,~7,.... ® @0¥ @@ S0 1035 &S50

(1) 31 A2 -31 VA
[SRS5

A
-

A

o
i

(3) 30 (4) -30 p

The sum of first 10 terms of the arithmetic progression 34, 32, 30, .... is
34, 32, 30, .... &b @of @ Soh Heo el 10 Sore Qoo

(1) 200 (2) 225

8) 250 (4) 275

ey A

-

SPACE FOR ROUGH WORK /85508
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